
0.09 x 100 = 49.5 x 100 = 66.02 x 100 =

0.29 x 100 = 9.6 x 100 = 0.5 x 100 =

0.9 x 100 = 0.8 x 100 = 77.7 x 100 =

0.008 x 100 = 0.1 x 100 = 5 x 100 =

57.3 x 100 = 0.091 x 100 = 0.704 x 100 =

0.19 x 100 = 63.13 x 100 = 0.7 x 100 =

1.425 x 100 = 67.8 x 100 = 1 x 100 =

0.031 x 100 = 0.6 x 100 = 71.4 x 100 =

0.7 x 100 = 0.02 x 100 = 0.9 x 100 =

0.006 x 100 = 0.151 x 100 = 0.07 x 100 =

0.11 x 100 = 6.6 x 100 = 0.195 x 100 =

2.83 x 100 = 0.038 x 100 = 16.1 x 100 =

2.12 x 100 = 0.006 x 100 = 0.625 x 100 =

65.65 x 100 = 4.35 x 100 = 0.288 x 100 =

0.95 x 100 = 7.365 x 100 = 0.9 x 100 =
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0.09 x 100 = 9 49.5 x 100 = 4950 66.02 x 100 = 6602

0.29 x 100 = 29 9.6 x 100 = 960 0.5 x 100 = 50

0.9 x 100 = 90 0.8 x 100 = 80 77.7 x 100 = 7770

0.008 x 100 = 0.8 0.1 x 100 = 10 5 x 100 = 500

57.3 x 100 = 5730 0.091 x 100 = 9.1 0.704 x 100 = 70.4

0.19 x 100 = 19 63.13 x 100 = 6313 0.7 x 100 = 70

1.425 x 100 = 142.5 67.8 x 100 = 6780 1 x 100 = 100

0.031 x 100 = 3.1 0.6 x 100 = 60 71.4 x 100 = 7140

0.7 x 100 = 70 0.02 x 100 = 2 0.9 x 100 = 90

0.006 x 100 = 0.6 0.151 x 100 = 15.1 0.07 x 100 = 7

0.11 x 100 = 11 6.6 x 100 = 660 0.195 x 100 = 19.5

2.83 x 100 = 283 0.038 x 100 = 3.8 16.1 x 100 = 1610

2.12 x 100 = 212 0.006 x 100 = 0.6 0.625 x 100 = 62.5

65.65 x 100 = 6565 4.35 x 100 = 435 0.288 x 100 = 28.8

0.95 x 100 = 95 7.365 x 100 = 736.5 0.9 x 100 = 90
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